PAPER • OPEN ACCESS

Bipolar-value fuzzy soft lie subalgebras

To cite this article: Xiong-wei Zhang 2017 IOP Conf. Ser.: Mater. Sci. Eng. 231 012008

View the article online for updates and enhancements.

You may also like

- <u>Lie algebras of triangular polynomial</u> <u>derivations and an isomorphism criterion</u> <u>for their Lie factor algebras</u> V. V. Bavula
- <u>Sub-Riemannian geometries on compact</u> homogeneous spaces V. V. Gorbatsevich
- Locally transitive analytic actions of Lie groups on compact surfaces V. V. Gorbatsevich





DISCOVER how sustainability intersects with electrochemistry & solid state science research



This content was downloaded from IP address 18.118.226.26 on 15/05/2024 at 00:09

Bipolar-value fuzzy soft lie subalgebras

Xiong-wei Zhang

School of Mathematics and Statistics, Yulin University, 719000, Yulin, P. R. China

E-mail: zhangxw1019@163.com

Abstract. In this paper, the notions of bipolar-value fuzzy soft Lie subalgebras are given, some of their properties are studied. Furthermore, we shall define the definition of bipolar-value fuzzy soft homomorphism of bipolar-value fuzzy soft Lie subalgebras and show that the theorem of bipolar-value fuzzy soft homomorphic pre-image of bipolar-value fuzzy soft Lie subalgebra, we shall give a counterexample which the image of a bipolar-value fuzzy soft Lie subalgebra under bipolar-value fuzzy soft homomorphism needs not be bipolar-value fuzzy soft Lie subalgebra..

1 Introduction and preliminaries

The real world is too complex for our immediate and direct understanding. We create models of reality that are simplifications of aspects of the real word. In 1999 D.Molodtsov [18] introduced the concept of a soft set and started to develop basic of the theory as a new approach for modeling uncertainties. From then on, many works on soft set theory and its applications in various fields are progressing rapidly [1,3-7,9-11,14-25].

In this paper, the notions of bipolar-value fuzzy soft Lie subalgebras are given, some of their properties are studied. Furthermore, we shall define the definition of bipolar-value fuzzy soft homomorphism of bipolar-value fuzzy soft Lie subalgebras and show that the theorem of bipolar-value fuzzy soft homomorphic pre-image of bipolar-value fuzzy soft Lie subalgebra, we shall give a counterexample which the image of a bipolar-value fuzzy soft Lie subalgebra under bipolar-value fuzzy soft homomorphism is not need to be bipolar-value fuzzy soft Lie subalgebra.

Definition 1.1^[16] Let X be a set, a pair (f, A) is called a fuzzy soft set on X, (where $A \subseteq E$ and E be a set of parameters), and $f: A \to I^X$ is a mapping from A into I^X , i.e. for each $e \in A, f(e) = f_e : X \to I$ is a fuzzy set on X.

Definition 1.2^[13]Let X be a set, $\mu = (\mu^P, \mu^N)$ is called a bipolar-value fuzzy set on X iff both $\mu^{P}: X \to [0,1]$ and $\mu^{P}: X \to [-1,0]$ are mappings. The family of all bipolar-value fuzzy sets on X is denoted by BF(X).

Definition 1.3^[13] Let $\mu = (\mu^P, \mu^N)$ and $\lambda = (\lambda^P, \lambda^N)$ be two bipolar-value fuzzy set on X.

Then

- (1) $\mu \wedge \lambda = (\mu^P \wedge \lambda^P, \mu^N \wedge \lambda^N);$
- (2) $\mu \lor \lambda = (\mu^P \lor \lambda^P, \mu^N \lor \lambda^N);$
- (3) $\mu'(x) = (1 \mu^{P}(x), -1 \lambda^{P}(x)).$

Content from this work may be used under the terms of the Creative Commons Attribution 3.0 licence. Any further distribution of this work must maintain attribution to the author(s) and the title of the work, journal citation and DOI. Published under licence by IOP Publishing Ltd 1

Definition 1.4 Let X be a set, a pair (f, A) is called a bipolar-value fuzzy soft set on X iff $f: A \to BF(X)$ is a mapping from A into BF(X), i.e. for each $e \in A$, $f(e) = f_e = (f_e^P, f_e^N)$ is a bipolar-value fuzzy set on X.

Definition 1.5^[26]Let (f, A) and (g, B) are two bipolar-value fuzzy soft sets on X, we say that (f, A) is a bipolar-value fuzzy soft subset of (g, B), and write $(f, A) \subseteq (g, B)$ if

(1) $A \subseteq B$, (2) $f_e \leq g_e$ for each $e \in A$, i.e. f_e is a bipolar-value fuzzy subset of g_e , in other word, $f_e^P \leq g_e^P$ and $f_e^N \geq g_e^N$.

Definition 1.6 ^[26] Let (f, A) and (g, B) are two bipolar-value fuzzy soft sets on X, (f, A) and (g, B) are said to be equal if $(f, A) \subseteq (g, B)$ and $(g, B) \subseteq (f, A)$.

Definition 1.7 ^[26] Let (f, A) and (g, B) are two bipolar-value fuzzy soft sets on X, union of two bipolar-value fuzzy soft sets (f, A) and (g, B) is the bipolar-value fuzzy soft set (g, B), where

$$C = A \cup B \text{ and } h(e) = \begin{cases} f_e, & \text{if } e \in A - B \\ g_e, & \text{if } e \in B - A, \forall e \in C \\ f_e \lor g_e, & \text{if } e \in A \cap B \end{cases}$$

We write $(f, A) \cup (g, B) = (h, C)$.

Definition 1.8 ^[26] Let (f, A) and (g, B) are two bipolar-value fuzzy soft sets on X, intersection of two bipolar-value fuzzy soft sets (f, A) and (g, B) is the bipolar-value fuzzy soft set (h, C), where

 $C = A \cap B$ and $h_e = f_e \wedge g_e (\forall e \in C)$. We write $(f, A) \cap (g, B) = (h, C)$.

Definition 1.9 ^[26] Let (f, A) and (g, B) are two bipolar-value fuzzy soft sets on X, (f, A) and (g, B) is denoted as $(f, A) \land (g, B)$, is defined as follows: $(h, A \times B)$, where $h(a, b) = h_{a,b} = f_a \land g_b$ for each $(a, b) \in A \times B$.

Definition 1.10 ^[26] Let (f, A) and (g, B) are two bipolar-value fuzzy soft sets on X, (f, A) or (g, B) is denoted as $(f, A) \lor (g, B)$, is defined as follows: $(h, A \times B)$, where $h(a,b) = h_{a,b} = f_a \land g_b$ for each $(a,b) \in A \times B$.

Definition 1.11 ^[26](1) A bipolar-value fuzzy soft set (f, A) is called a null bipolar-value fuzzy soft set iff $f_e^P(x) = 0$ and $f_e^N(x) = 0$ for each $e \in A$ and $x \in X$, we write (ϕ, A) .

(2) A bipolar-value fuzzy soft set (g, B) is called an absolute bipolar-value fuzzy soft set iff $f_e^P = 0$ and $f_e^N = -1$ for each $e \in B$ and $x \in X$, we write (X, B).

Definition 1.12^[8] A vector space L over a field F with an operation $[,]: L \times L \to L, (x, y) \to [x, y]$ is called a Lie algebra over F if the following axioms are satisfied:

(1) The bracket operation is bilinear, that is,

$$[ax+by,cz+dw] = ac[x,z]+cb[y,z]+ad[x,w]+bd[y,w].$$

(2)
$$[x, y] = -[y, x] (\forall x, y \in L).$$

(3) (Jacobi identity) $[x, [y, z]] + [y, [z, x]] + [z, [x, y]] = 0 (\forall x, y, z \in L)$

IOP Publishing

A subspace K of L is called a Lie subalgebra of L if $[x, y] \in K$, for all $x, y \in K$ and a subspace I of L is called a Lie ideal of L if for all $x \in I$, $y \in L$, implies $[x, y] \in I$, Obviously, a Lie ideal of L is a Lie subalgebra of L.

Remark 1.14 $[x, x] = 0 (\forall x \in L) \cdot [[x, y], z] = [x, [y, z]]$ does not established generally, that is, [,] does not satisfy the associative law, for example: Let *L* be all the 2×2 matrix of vector space over a field \mathbb{F} , *A*, *B* are 2×2 matrix, for bracket operation [A, B] = AB - BA, but $\lceil [A, B], C \rceil \neq \lceil A, [B, C] \rceil$.

In fact, let
$$A = \begin{pmatrix} 1 & -1 \\ 0 & 0 \end{pmatrix}, B = \begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix}, C = \begin{pmatrix} 1 & -1 \\ 0 & 1 \end{pmatrix}$$
, we can show that

$$\begin{bmatrix} \begin{bmatrix} A, B, C \end{bmatrix} \end{bmatrix} = A = \begin{pmatrix} -1 & 2 \\ 0 & 1 \end{pmatrix} \neq \begin{pmatrix} 0 & 2 \\ 0 & 0 \end{pmatrix} = \begin{bmatrix} A, \begin{bmatrix} B, C \end{bmatrix} \end{bmatrix}$$

2 Bipolar-value fuzzy soft Lie subalgebras

Definition 2.1 Let *L* is a Lie algebra over a field \mathbb{F} and (f, A) is a bipolar-value fuzzy soft sets on *L*, (f, A) is called a bipolar-value fuzzy soft Lie subalgebra of *L* iff the following conditions are satisfied : for each $e \in A, x, y \in L$, and $\alpha \in \mathbb{F}$,

- (1) $f_e^P(x+y) \ge f_e^P(x) \land f_e^P(y)$ and $f_e^N(x+y) \le f_e^N(x) \lor f_e^N(y)$
- (2) $f_e^P(\alpha x) \ge f_e^P(x)$ and $f_e^N(\alpha x) \le f_e^N(x)$.
- (3) $f_e^P([x, y]) \ge f_e^P(x) \land f_e^P(y)$ and $f_e^N([x, y]) \le f_e^N(x) \lor f_e^N(y)$.

That is, for each $e \in A$, f_e^P is a fuzzy Lie subalgebra o L(see[12]) and f_e^N is an anti fuzzy Lie subalgebra. If (f, A) is satisfied (1)–(2) and the condition (4),

(4) $f_e^P([x, y]) \ge f_e^P(x)$ and $f_e^N([x, y]) \le f_e^N(x)$.

Then (f, A) is called a bipolar-value fuzzy soft Lie ideal of L, that is, for each $e \in A$, f_e^P is a fuzzy Lie ideal of L(see[12]) and f_e^N is an anti fuzzy Lie ideal (see [2], if a bipolar-value fuzzy soft set (f, A) on L is only satisfied (2) and (4), then (f, A) is a bipolar-value pre-fuzzy soft Lie ideal on L.

Remark 2.2 Obviously, a bipolar-value fuzzy soft Lie ideal is a bipolar-value fuzzy soft Lie subalgebra. A bipolar-value fuzzy soft Lie ideal is a bipolar-value pre-fuzzy soft Lie ideal .

Theorem 2.3 Let *L* is a Lie algebra over a field \mathbb{F} , (f, A) is a bipolar-value fuzzy soft set on *L*, if (f, A) is a bipolar-value fuzzy soft Lie subalgebra on *L*, then for each $e \in A, x, y \in L$ and $\alpha \in \mathbb{F} -\{0\}$, we have

(i)
$$f_{e}^{P}(0) \ge f_{e}^{P}(x)$$
 and) $f_{e}^{N}(0) \le f_{e}^{N}(x)$;
(ii) $f_{e}^{P}(\alpha x) = f_{e}^{P}(x)$ and $f_{e}^{N}(\alpha x) = f_{e}^{N}(x)$;
(iii) If $f_{e}^{P}(x) < f_{e}^{P}(y)$, then $f_{e}^{P}(x-y) = f_{e}^{P}(x) = f_{e}^{P}(y-x)$ and if $f_{e}^{N}(x) < f_{e}^{N}(y)$, then $f_{e}^{N}(x-y) = f_{e}^{N}(y) = f_{e}^{N}(y-x)$;
(iv) $f_{e}^{P}([y,x]) = f_{e}^{P}(-[y,x]) = f_{e}^{P}([x,y])$.

IOP Publishing

Proof The proof is fair straightforward and we omit it.

Example 2.4 Let $L = \mathbb{R}^3$ and $[x, y] = x \times y(\forall x, y \in L)$, where \times is cross product. Then L is a Lie algebra over a field \mathbb{F} . let \mathbb{Z} is the set of all integer set.

(1) Define $f : \mathbb{Z} \to BF(\mathbb{R}^3)$ as follows:

$$\forall n \in \mathbb{Z}, f_n^P(x) = \begin{cases} 1, & \text{if } x = (0,0,0), \\ 0.5 & \text{if } x = (a,0,0), a \neq 0, \forall n \in \mathbb{Z} - \mathbb{N}, f_n^P(x) = \begin{cases} 0.9, & \text{if } x = (0,0,0), \\ 0.8, & \text{if } x = (0,0,b), b \neq 0 \\ 0, & \text{otherwise.} \end{cases}$$

and
$$\forall n \in \mathbb{Z}, f_n^N(x) = \begin{cases} -0.8, & \text{if } x = (0,0,0) \\ 0 & \text{otherwise.} \end{cases}$$

Then the pair (f,\mathbb{Z}) is a bipolar-value fuzzy soft set on \mathbb{R} , and we can show that (f,\mathbb{Z}) is a bipolar-value fuzzy soft Lie subalgebra.

(2)Define $f : \mathbb{Z} \to BF(\mathbb{R}^3)$ as follows:

$$\forall n \in \mathbb{Z}, f_n^P(x) = \begin{cases} 0.9, & \text{if } x = (0,0,0), \\ 0.3 & \text{otherwise.} \end{cases} \text{ and } f_n^N(x) = \begin{cases} -0.7, & \text{if } x = (0,0,0), \\ -0.2 & \text{otherwise.} \end{cases}$$

Then the pair (f,\mathbb{Z}) is a bipolar-value fuzzy soft set on \mathbb{R}^3 , and we can show that (f,\mathbb{Z}) is a bipolarvalue fuzzy soft Lie ideal.

In the following content, we shall study bipolar-value fuzzy soft Lie subalgebras and bipolar-value pre-fuzzy soft Lie ideals .

Theorem 2.5 Let (f, A) and (g, B) are bipolar-value fuzzy soft Lie subalgebras on L

(resp.bipolarvalue fuzzy soft Lie ideal, bipolar-value pre-fuzzy soft Lie ideal), then $(f, A) \cap (g, B)$ is a bipolar-value fuzzy soft Lie subalgebra on L (resp.bipolar-value fuzzy soft Lie ideal, bipolar-value pre-fuzzy soft Lie ideal).

Proof $(f,A) \cap (g,B) = (h,C)$. Where $C = A \cap B$ and $h_e = f_e \wedge g_e (\forall e \in C)$, if (f,A) and (g,B) are two bipolar-value fuzzy soft Lie subalgebras on L, then we have

$$(1) h_e^P(x+y) = f_e^P(x+y) \wedge g_e^P(x+y) \ge f_e^P(x) \wedge f_e^P(y) \wedge g_e^P(x) \wedge g_e^P(y) = h_e^P(x) \wedge h_e^P(y), and h_e^N(x+y) = f_e^N(x+y) \vee g_e^N(x+y) \le f_e^N(x) \vee f_e^N(y) \vee g_e^N(x) \vee g_e^N(y) = h_e^N(x) \vee h_e^N(y);$$

(2)
$$h_{e}^{P}(\alpha x) = f_{e}^{P}(\alpha x) \wedge g_{e}^{P}(\alpha x) \geq f_{e}^{P}(x) \wedge g_{e}^{P}(x) = h_{e}^{P}(x), \text{ and } h_{e}^{N}(\alpha x) = f_{e}^{N}(\alpha x) \vee g_{e}^{N}(\alpha x) \leq f_{e}^{N}(x) \vee g_{e}^{N}(x) = h_{e}^{N}(x);$$

$$(3) h_{e}^{P}([x, y]) = f_{e}^{P}([x, y]) \wedge g_{e}^{P}([x, y]) \geq f_{e}^{P}(x) \wedge f_{e}^{P}(y) \wedge g_{e}^{P}(x) \wedge g_{e}^{P}(y) = h_{e}^{P}(x) \wedge h_{e}^{P}(y), and h_{e}^{N}([x, y]) = f_{e}^{N}([x, y]) \vee g_{e}^{N}([x, y]) \leq f_{e}^{N}(x) \vee f_{e}^{N}(y) \vee g_{e}^{N}(x) \vee g_{e}^{N}(y) = h_{e}^{N}(x) \vee h_{e}^{N}(y);$$

If (f, A) and (g, B) are bipolar-value fuzzy soft Lie ideals on L , we have $(1, (2), and (4):$

$$(4) h_{e}^{P}([x, y]) = f_{e}^{P}([x, y]) \wedge g_{e}^{P}([x, y]) \ge f_{e}^{P}(x) \wedge g_{e}^{P}(x) = h_{e}^{P}(x), \text{ and } h_{e}^{N}([x, y]) = f_{e}^{N}([x, y]) \vee g_{e}^{N}([x, y]) \le f_{e}^{N}(x) \vee g_{e}^{N}(x) = h_{e}^{N}(x)$$

If (f, A) and (g, B) are bipolar-value pre-fuzzy soft Lie ideals on L, we have (2) and (4).

Hence $(f, A) \cap (g, B)$ is a bipolar-value fuzzy soft Lie subalgebra on L (resp. bipolar-value fuzzy soft Lie ideal, bipolar-value pre-fuzzy soft Lie ideal).

Similar to the proof of Theorem 2.5, we can show that the following Theorem 2.6:

Theorem 2.6 Let (f, A) and (f, B) are bipolar-value fuzzy soft Lie subalgebras on L (resp. bipolar-value fuzzy soft Lie ideal, bipolar-value pre-fuzzy soft Lie ideal), then (f, A) AND(g, B) is a bipolar-value fuzzy soft Lie subalgebra on L (resp. bipolar-value fuzzy soft Lie ideal, bipolar-value pre-fuzzy soft Lie ideal).

Proof Trivial.

Theorem 2.7 Let (f, A) and (f, B) are bipolar-value pre-fuzzy soft Lie ideals, then $(f, A) \cup (g, B)$ is a bipolar-value pre-fuzzy soft Lie ideal on L.

Proof Let $(f, A) \cup (g, B) = (h, C)$, if $e \in A - B$, then $h_e = f_e$, is a bipolar-value pre-fuzzy soft Lie ideal on L; if $e \in B - A$, then $h_e = g_e$, is a bipolar-value pre-fuzzy soft Lie ideal on L; if $e \in A \cap B$, then $h_e = f_e \vee g_e$, we have

$$(2) h_{e}^{P}(\alpha x) = f_{e}^{P}(\alpha x) \wedge g_{e}^{P}(\alpha x) \geq f_{e}^{P}(x) \wedge g_{e}^{P}(x) = h_{e}^{P}(x), \text{ and } h_{e}^{N}(\alpha x) = f_{e}^{N}(\alpha x) \vee g_{e}^{N}(\alpha x) \leq f_{e}^{N}(x) \vee g_{e}^{N}(x) = h_{e}^{N}(x);$$

$$(4) h_{e}^{P}([x, y]) = f_{e}^{P}([x, y]) \wedge g_{e}^{P}([x, y]) \geq f_{e}^{P}(x) \wedge g_{e}^{P}(x) = h_{e}^{P}(x), \text{ and } h_{e}^{N}([x, y]) = f_{e}^{N}([x, y]) \vee g_{e}^{N}([x, y]) \leq f_{e}^{N}(x) \vee g_{e}^{N}(x) = h_{e}^{N}(x)$$

Hence $(f, A) \cup (g, B)$ is a bipolar-value pre-fuzzy soft Lie ideal on L.

Similar to the proof of Theorem 2.7, we can show that the following Theorem 2.8:

Theorem 2.8 Let (f, A) and (f, B) are bipolar-value pre-fuzzy soft Lie ideals, then (f, A) OR (f, B) is a bipolar-value pre-fuzzy soft Lie ideal on L.

Proof Trivial.

Remark 2.9 If (f, A) and (f, B) are bipolar-value fuzzy soft Lie subalgebras on L, then $(f, A) \cup (g, B)$ need not be a bipolar-value fuzzy soft Lie subalgebra on L. For example let $L = \mathbb{R}^3$ and $[x, y] = x \times y(\forall x, y \in L)$, where \times is cross product, then L is a Lie algebra over a field \mathbb{R} . Let \mathbb{Z} is the set of all natural number.

Define $f: \mathbb{N} \to BF(\mathbb{R}^3)$ as follows: for each $n \in \mathbb{N}$.

$$f_n^{p}(x) = \begin{cases} 0.9, & \text{if } x = (0,0,0), \\ 0.8, & \text{if } x = (0,0,a), a \neq 0, \\ 0, & \text{otherwise.} \end{cases} \quad f_n^{N}(x) = \begin{cases} -0.5, & \text{if } x = (0,0,0), \\ -0.3, & \text{otherwise.} \end{cases}$$

And define $g: \mathbb{N} \to BF(\mathbb{R}^3)$ as follows:

$$g_n^p(x) = \begin{cases} 0.9, & \text{if } x = (0,0,0), \\ 0.4, & \text{if } x = (b,0,0), b \neq 0, \\ 0.2, & \text{otherwise.} \end{cases} \quad g_n^N(x) = \begin{cases} -1, & \text{if } x = (0,0,0), \\ -0.2, & \text{otherwise.} \end{cases}$$

Then both (f, \mathbb{N}) and (g, \mathbb{N}) are bipolar-value fuzzy soft sets of \mathbb{R}^3 , we can show that both (f, \mathbb{N}) and (g, \mathbb{N}) are bipolar-value fuzzy soft Lie subalgebras of L, since $(f_n \lor g_n)^P((0,0,a) + (b,0,0)) = (f_n \lor g_n)^P((b,0,a)) = 0.2$, but $(f_n \lor g_n)^P(0,0,a) \land (f_n \lor g_n)^P(b,0,0)$ $= (0.8 \lor 0.2) \land (0 \lor 0.4) = 0.2 = 0.8 \land 0.4 = 0.4$. Therefore $(f_n \lor g_n)^P((0,0,a) + (b,0,0)) < (f_n \lor g_n)^P((0,0,a)) \land (f_n \lor g_n)^P((b,0,0))$ Hence

 $(f, A) \cup (g, B)$ need not be a bipolar-value fuzzy soft Lie subalgebra of L.

3 Homomorphism of bipolar-value fuzzy soft Lie subalgebras

Definition 3.1 Let (f, A) and (g, B) be two bipolar-value fuzzy soft sets on X and Y, respectively. $\Xi: X \to Y$ and $\Theta: A \to B$ be two functions, where A and B are parameter sets. Define (Ξ, Θ) as follows $(\Xi, \Theta)(f, A) = (\Xi(f), \Theta(A))$ where $\Xi, (f)_a$ is satisfied the following condition: for each $a \in \Theta(A), \forall y \in Y$

$$\Xi(f)_{a}^{P}(y) = \begin{cases} \bigvee_{\Xi(x)=y\Theta(e)=a} f_{e}(x), & \text{if } x \in \Xi^{-1}(y) \\ 0, & \text{otherwise} \end{cases}$$

and

$$\Xi(f)_a^P(y) = \begin{cases} \bigwedge_{\Xi(x)=y\Theta(e)=a} f_e(x), & \text{if } x \in \Xi^{-1}(y) \\ -1, & \text{otherwise} \end{cases}$$

Define

 $(\Xi, \Theta)^{-1}(g, B) = (\Xi^{-1}(g), \Theta^{-1}(B)),$ where

 $\Xi^{-1}(g)_e(x) = g_{\Theta(e)}(\Xi(x))(\forall e \in \Theta^{-1}(B), \forall x \in X)$. The pair (Ξ, Θ) is called a bipolar-value fuzzy soft function from X to Y, and $(\Xi, \Theta)(f, A)$ is called the image of (f, A) under the bipolar-value fuzzy soft function (Ξ, Θ) , and $(\Xi, \Theta)^{-1}(g, B) = (\Xi^{-1}(g), \Theta^{-1}(B))$, is called the pre-image of (g, B) under the bipolar-value fuzzy soft function (Ξ, Θ) .

Definition 3.2 Let X, Y are Lie subalgebras on field \mathbb{F} , (Ξ, Θ) is a bipolar-value fuzzy soft function from X to Y, if Ξ is a isomorphism from the Lie subalgebra X to the Lie subalgebra Y, then (Ξ, Θ) is said to be a homomorphism of bipolar-value fuzzy soft Lie subalgebras over X and Y.

Theorem 3.3 Let (g, B) is a bipolar-value fuzzy soft Lie subalgebra (resp. bipolar-value fuzzy soft Lie ideal) on Lie subalgebra Y, (Ξ, Θ) is a homomorphism of bipolar-value fuzzy soft Lie subalgebras over X and Y, then $(\Xi, \Theta)^{-1}(g, B)$ is a bipolar-value fuzzy soft Lie subalgebras(resp.bipolar-value fuzzy soft Lie ideal) on X.

Proof We only show that $(\Xi, \Theta)^{-1}(g, B)$ is a bipolar-value fuzzy soft Lie subalgebras on X. Since $(\Xi, \Theta)^{-1}(g, B) = (\Xi^{-1}(g), \Theta^{-1}(B))$, for each $e \in \Theta^{-1}(B)$, we have

$$\begin{aligned} (1) &\Xi^{-1}(g)_{e}^{P}(x+y) = g_{\Theta(e)}^{P}(\Xi(x+y)) = g_{\Theta(e)}^{P}(\Xi(x) + \Xi(y)) \ge g_{\Theta(e)}^{P}(\Xi(x)) \land g_{\Theta(e)}^{P}(\Xi(y)) \\ &= \Xi^{-1}(g)_{e}^{P}(x) \land \Xi^{-1}(g)_{e}^{P}(y), and \Xi^{-1}(g)_{e}^{N}(x+y) = g_{\Theta(e)}^{N}(\Xi(x+y)) = \\ g_{\Theta(e)}^{N}(\Xi(x) + \Xi(y)) \le g_{\Theta(e)}^{N}(\Xi(x)) \lor g_{\Theta(e)}^{N}(\Xi(y)) = \Xi^{-1}(g)_{e}^{N}(x) \lor \Xi^{-1}(g)_{e}^{N}(y). \\ (2) &\Xi^{-1}(g)_{e}^{P}(\alpha x) = g_{\Theta(e)}^{P}(\Xi(\alpha x)) = g_{\Theta(e)}^{P}(\alpha \Xi(x)) \ge g_{\Theta(e)}^{P}(\Xi(x)) = \Xi^{-1}(g)_{e}^{P}(x), \\ and &\Xi^{-1}(g)_{e}^{N}(x+y) = g_{\Theta(e)}^{N}(\Xi(\alpha x)) = g_{\Theta(e)}^{P}(\alpha \Xi(x)) \le g_{\Theta(e)}^{N}(\Xi(x)) = \Xi^{-1}(g)_{e}^{P}(x). \\ (3) &\Xi^{-1}(g)_{e}^{P}([x,y]) = g_{\Theta(e)}^{P}(\Xi[x,y]) = g_{\Theta(e)}^{P}([\Xi(x),\Xi(y)]) \ge g_{\Theta(e)}^{P}(\Xi(x)) \land g_{\Theta(e)}^{P}(\Xi(y)) \\ &= \Xi^{-1}(g)_{e}^{P}(x) \land \Xi^{-1}(g)_{e}^{P}(y), and \Xi^{-1}(g)_{e}^{N}([x,y]) = g_{\Theta(e)}^{N}(\Xi[x,y]) = \\ g_{\Theta(e)}^{N}([\Xi(x),\Xi(y)]) \le g_{\Theta(e)}^{N}(\Xi(x)) \lor g_{\Theta(e)}^{N}(\Xi(y)) = \Xi^{-1}(g)_{e}^{N}(x) \lor \Xi^{-1}(g)_{e}^{N}(y). \end{aligned}$$

Hence $(\Xi, \Theta)^{-1}(g, B)$ is a fuzzy soft Lie subalgebra of X.

Remark 3.4 Let (f, A) is a bipolar-value fuzzy soft Lie subalgebra on X, (Ξ, Θ) is a homomorphism of bipolar-value fuzzy soft Lie subalgebras over X and Y. Then $(\Xi, \Theta)(f, A)$ need not be bipolar-value fuzzy soft Lie subalgebra on Y, thus $(\Xi, \Theta)(f, A)$ need not be bipolar-value fuzzy soft Lie ideal on Y. For example: let $L = \mathbb{R}^3$ and $[x, y] = x \times y(\forall x, y \in L)$, where \times is cross product. Then L is a fuzzy Lie subalgebra of \mathbb{R} . Let \mathbb{Z} is the set of all integer. Define $f:\mathbb{Z} \to BF(\mathbb{R}^3)$ as follows:

$$\forall n \in \mathbb{Z}, f_n^P(x) = \begin{cases} 0.9, & \text{if } x = (0,0,0), \\ 0.8, & \text{if } x = (0,0,a), a \neq 0, \\ 0, & \text{otherwise.} \end{cases} \text{ and } f_n^N(x) = -1(\forall x \in \mathbb{R}^3) \\ 0, & \text{otherwise.} \end{cases}$$

$$\forall n \in \mathbb{Z} - \mathbb{N}, f_n^P(x) = \begin{cases} 0.9, & \text{if } x = (0,0,0), \\ 0.4, & \text{if } x = (b,0,0), b \neq 0, \\ 0.2, & \text{otherwise.} \end{cases} \text{ and } f_n^N(x) = -1(\forall x \in \mathbb{R}^3)$$

Then the pair (f,\mathbb{Z}) is a bipolar-value fuzzy soft Lie subalgebra on L.

Let $L' = \mathbb{R}^{33}$ and $[x, y] = x \times y(\forall x, y \in L')$, then L' is a fuzzy Lie subalgebra of \mathbb{R} . Let \mathbb{N} is the set of all natural number. Define $f: L \to L'$ as follows: $\Xi(x) = x(\forall x \in L)$. Define $\Theta: \mathbb{Z} \to \mathbb{N}$, as follows:

$$\Theta(x) = \begin{cases} n, & \text{if } x = n, -n(\forall n \in \mathbb{N} - \{0\}, \\ 0, & \text{otherwise.} \end{cases}$$

Then (Ξ, Θ) is a homomorphism of bipolar-value fuzzy soft Lie subalgebras over L and L'. Therefore $(\Xi, \Theta)(f, \mathbb{Z}) = (\Xi(f), \mathbb{N})$, Hence, for each $n \in \mathbb{N} - \{0\}$ and $y \in L', \Xi(f)_n^P(y) = f_n^P(y) \lor f_{-n}^P(y)$, take $y_1 = (0, 0, a), y_2 = (b, 0, 0)$, we have $y_1 = (0, 0, a), y_2 = (b, 0, 0)$ but $\Xi(f)_n^P(y_1) \land \Xi(f)_n^P(y_2) = \Xi(f)_n^P(0, 0, a) \land \Xi(f)_n^P(b, 0, 0) = (f_n^P(0, 0, a) \lor f_{-n}^P(0, 0, a)) \land (f_n^P(b, 0, 0) \lor f_{-n}^P(b, 0, 0)) = (0.8 \lor 0.2) \land (0 \lor 0.4) = 0.8 \land 0.4 = 0.4.$

Therefore $\Xi(f)_n^P(y_1 + y_2) < \Xi(f)_n^P(y_1) \land \Xi(f)_n^P(y_2)$. Hence $(\Xi, \Theta)(f, \mathbb{Z}) = (\Xi(f), \mathbb{N})$ need not be a bipolar-value fuzzy soft Lie subalgebra of L'.

4 Conclusion

In this paper, the notions of bipolar-value fuzzy soft Lie subalgebras were given, some of their properties were studied. A counterexample which the image of a bipolar-value fuzzy soft Lie subalgebra under bipolar-value fuzzy soft homomorphism needs not be bipolar-value fuzzy soft Lie subalgebra was given. However, the bipolar-value fuzzy soft homomorphic theorem was not given.

Acknowledgement

This work was supported by the National Natural Science Foundation of China (Grant No.11641002)

Reference

- [1] U. Acar, F. Koyuncu, B. Tanay, Soft sets and soft rings, Computers & Mathematics with Applications 59(11)(2010)3458–3463.
- [2] M. Akram, Anti fuzzy Lie ideals of Lie algebras, Quasigroups and Related Systems, 14 (2006), 123– 132.
- [3] H. Akta, s, N. C, a'gman, Soft sets and soft groups, Information Sciences 177(13)(2007) 2726–2735.
- [4] A.O. Atagu[°]n, A. Sezgin, Soft substructures of rings, fields and modules, Computers & Mathematics with Applications 61(3)(2011)592–601.
- [5] A. Ayg["]uno[°]glu, H. Ayg["]un, Introduction to fuzzy soft groups, Computers & Mathematics with Applications, 58(6), 2009 :1279–1286.
- [6] N. C, a gman, S. Karata, s, S. Enginoglu, Soft topology, Computers & Mathematics with Applications 62(1)(2011)351–358.
- [7] F. Feng, Y.B. Jun, X.Z. Zhao, Soft semirings, Computers & Mathematics with Applications 56(10)(2008)2621–2628.
- [8] J. E. Humphreys, Introduction to Lie Algebras and Representation Theory (Springer, New York, 1972).
- [9] Y.B. Jun, Soft BCK/BCI-algebras, Computers & Mathematics with Applications, 56(5)(2008)1408–1413.
- [10] Y.B.Jun, K.J.Lee, C.H.Park, Soft set theory applied to ideals in d-algebras, Computers & Mathematics with Applications 57(3)(2009)367–378.
- [11] Y.B. Jun, K.J. Lee, J.M. Zhan, Soft p-ideals of soft BCI-algebras, Computers & Mathematics with Applications 58(10)(2009)2060–2068.
- [12] C. G. Kim, D. S. Lee, Fuzzy Lie ideals and fuzzy Lie subalgebras, Fuzzy Sets and Systems 94 (1998) 101-107.
- [13] K. M.Lee. Bipolar-valued fuzzy sets and their basic operations, Proceedings of the International Conference, Bangkok, Thailand, 2000: 307–317.
- [14] P.K. Maji, A.R. Roy, R. Biswas, An application of soft sets in a decision making problem, Computers & Mathematics with Applications 44(8–9)(2002)1077–1083.
- [15] P.K. Maji, R. Biswas, A.R. Roy, Soft set theory, Computers & Mathematics with Applications 45(4–5) (2003)555–562.
- [16] P. K. Maji, R.Biswas, A. R.Roy, Fuzzy soft sets[J]. Journal of Fuzzy Mathematics,9(3),2001:589-602.
- [17] W. K. Min, A note on soft topological spaces, Computers & Mathematics with Applications 62 (2011) 3524–3528.
- [18] D. Molodtsov, Soft set theory---First results, Computers & Mathematics with Applications 37(4– 5)(1999)19–31.
- [19] A. Sezgin, A.O. Atagu[°]n, Soft groups and normalistic soft groups, Computers & Mathematics with Applications 62(2)(2011)685–698.
- [20] M. Shabir, M. Naz, On soft topological spaces, Computers & Mathematics with Applications 61 (2011) 1786-1799.
- [21] B. Tanay, M.B. Kandemir, Topological structure of fuzzy soft sets, Computers and Mathematics with Applications, 61 (2011) 2952–2957.

- [22] B.P.Varol,A.Shostak,H.Ayg^{*}un,Categories related to topology viewed as soft set, doi:10.2991/eusflat.2011.52 883 890.
- [23] X.B. Yang, T.Y. Lin, J.Y. Yang, Y. Li, D.J. Yu, Combination of interval-valued fuzzy set and soft set, Computers & Mathematics with Applications 58(3)(2009)521–527.
- [24] Y.Q. Yin, Y.B. Jun, J.M. Zhan, Vague soft hemirings, Computers & Mathematics with Applications 62(1)(2011)199–213.
- [25] Hu Zhao, Sheng-gang Li, The notions and some properties of fuzzy soft Lie subalgebras, (in China), 41(6)(2013) 1–5.
- [26] Wen Hua Yang, Sheng-gang Li, Bipolar-value fuzzy soft sets Computer Engineering and Applications(in China),48(35)(2012)15–18.